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Cramers Rule with System of 3 Equations

Use Cramers Rule to solve each system

17 -3z =3
o4+ Dy +6F = -0
-4dx + 3y = -3

3 By +4r=15
B - Oy = -3
- 3% -By-37=-5

51 Sk +9z=-2
Ay = 4
2% + dy - B = -5

Tl %+ 2%+ 6z =-5
Bx =4
Gx +Ey+6Z =2

9 3 + 6y + 37 =-5
Jzr =23
¥+ By +3F =2

111 2% + 4y + Bz = -5
2 -y + B = 2
X +3z=-2
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X + B =-2
oDy +0F =5
By -6BZ =5

-2M -y + 97 = -5
-y + 2T =5
2% +BZ=-2

Ay -Gz =5
% + By- 9z = -5
-Ax =4

SO -dy- 97 =-5
o By-Or =2
_4'-_?-':_&

¥4+ + B = -0
%+ 2y + B =2
-2y +A7 =5

K- 2y-3Z=-5
-y - By = -3
D+ Py Tz =2
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